Mivakag ZuvTeTaypévwy TWV Kopupwy Tou 1,2,3
EpBadév tepaxiou = 1100 T1.4. - MepipeTpog = 162.83 .

[NlaAaBoudlidngc Xprjotog

a/a X Y ATTO0TACEIG
1 307504.34| 4468007.99
2 307502.10| 4468001.65 1-2:6.72
3 307513.12| 4467943.75 2-3:58.94
4 307535.88| 4468005.17 3-4:65.50
1 307504.34| 4468007.99 4-1:31.67
Mivakag ZUVTETAYHEVWY TWV KOpUPwy Tou 1,2.3...............
EupBadov tepaxiou = 3440 1.y. - MNepiperpog = 250.02 p.
a/a X Y ATtTooTdOEIG
1 307663.29| 4467971.61
2 307670.35| 4467981.62 1-2:12.25
3 307690.98| 4468026.72 2-3:49.59
4 307704.53| 4468018.51 3-4:15.84
5 307716.92| 4467958.48 4-5:61.30
6 307685.96| 4467924.59 5-6:45.90
7 307652.16| 4467962.17 6-7:50.54
1 307663.29| 4467971.61 7-1:14.59




